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Score XK xL XN
Min. :39.0 Min. :0.00 Min. :0.0 Min. :0.00
1st Qu. :48.0 1st Qu. :0.00 Ist Qu. :0.0 Ist Qu. :0.00
Median :54.0 Median :0.00 Median :1.0 Median :0,00
Mean :56.0 Mean :0.16 Mean :0.6 Mean :0.24
3rd Qu. :62.5 3rd Qu. :0.00 - 3rd Qu. :1.0 3rd Qu. :0.00
Max., :82.0 Max. :1.00 Max. :1.0 Max, :1.00
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One Sample t-test
data: Score
t=-3.3013, df=(F), p-value=0.0007417
alternative hypothesis: true mean is less than 60
95 percent confidence interval:

(T) 58.02
sample estimates:
mean of x
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2. MEEEEER KER L B&yScoreth A E #4704 - SK 4 K B éyScoredtd® ~ SL
HFH L &&yScoredids » ERIEA Var.test(SK,SL,alterhatiVF"two.sided",conf.leve1=0.95)
BRI A= BEMHR ttestE 4 0 A AE AWML R R » B P RwHENES R test(SKSL,
alternative="two.sided", mu=0, paired=F, varequal=T) > * % ¥ J& &9 35 4 % t.test(SK,SL,
alternative="two.sided", mu=0, paired=F, var.equal=F) ¢ LT 4 ufl 9 b &%, AF — 15 L2 ?

(A) 3w R vartest 38 4 F R ARERER 0.9 FHHNEHEH LR/ 2.208 -
(B) Z=(R)EHHFRMN] -

©) &FEFLEARBAR B ARRBY TR BERLFIRw0(T)ERET -
(D) Zm(%)# 52 -

(E) & B ()BT o9 BHE R 5.560

RE
F test to compare two variances
data: SK and SL
F=0.72511, num df=(?7), denom df=(??7), p-value=10.5829
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:

(A) 2.208

sample estimates:
ratio of variances
0.72511
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Two Sample t-test

data: SK and SL
t=-0.41595, df=(T), p-value=(??)
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:

-5.560 3.648
sample estimates:
mean of X mean of y

() 52.956

#E
Welch Two Sample t-test
data: SK and SL
t=-0.45696, df=(??), p-value=(?7)
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:

(&) 3.408

sample estimates:
mean of x mean of y
(?7) 52.956
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(A) &) % 66.278 -

(B) £X(F) 529 (WHENENEBHE—M) -

(C) & A (F)h#0.3081 -

(D) #ekxey Tp-value: 1.743e-06 | ST 3w 8] TR P SREEHEMNO0, -
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Coefficients:
Estimate Std. Error t value Pr(>|t]}

(Intercept) (B 2.086 (77) < Dp-16 *H

xK () (F) -4.330 4.75e-05 *#*

xL -13.322 2.468 (7 8.22¢-07 ***

Signif. codes: 0 “**** 0,001 “*** 0.01 ***0.05°.70.1°" 1

Residual standard error: 8.849 on (??) degrees of freedom
Multiple R-squared: 0.3081, Adjusted R-squared: (&)
F-statistic: 16.03 on 2 and (7?) DF, p-value: 1.743e-06

4 B AER D ABTRR  BEARBREARTHALLLY - LK EA R
FARERY, = fo+ Pixix + Poxip + & (R Exyy) > #kE (residual) #ATHH > £ R
%L o %1835 4 (shapiro.test » jarque.bera.test + durbinWatsonTest ~ ncvTest) 4~ B 4F 2] 2%
ko BB REERT o T ABAL KA —F LA ? |
(A) S38if X35 TREFABMFEIE ) 69300% -

(B) T3 s] "RERABAH L, -

O)Ti#HwiFz "REBGREHARY , -

D) ZA(F) B2

(B) AR R R FMLZ S EAA BB -

* FA
Shapiro-Wilk normality test Jarque Bera Test '
W=0.97383, p-value=0.1223 X-squared = 2.8262, df= (%), p-value=102434
A T
lag Autocorrelation D-W Statistic p-value | Non-constant Variance Score Test
1 0.2010495 1.57683 0.032 | Variance formula: ~ fitted.values
Alternative hypothesis: rho = 0 Chisquare = 15.40203, Df=(77), p=8.6895%e-05
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0.54x(1-0.54) _

(A) £ OS%AECARET » p B REHERN T RA 0.54—1.96 X f'—“j;ao—

(B) 4 LowerLimit = 0.54 = 1.96 x |“2C0 L LowerLimit ey 4 % 4 0.025 -
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0.54%(1—0.54) + 0.4%(1-0.4)
400 400

0.14—1.96 xJ
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